Multidimensional Task Ability Profile
Health and Behavioral Assessment

MTAP Legend
1=Able 2= Slightly Restricted 3=Restricted
4=Very Restricted 5=Unable ?=Don't Know

Current
Comparison

NEW, ONE

September 19, 2009
August 10, 2009

1 Use a spoon to eat a bowl of soup.

26 Unload two 10-pound (4.5-kg) grocery bags from the trunk of an automobile.

2 Make a shopping list with a pencil.

27 Drive a wood screw with a large screwdriver.

3 Turn a lever knob to open a door.

28 Use a garden rake to collect leaves from a lawn.

4 Pour a cup of coffee from a coffee pot.

29 Sand a table with an electric sander.

5 Cut a piece of steak with a fork and sharp knife.

30 Cut a piece of wood with a hand saw.

6 Walk 200 feet (61 m) on a sidewalk.

31 Break loose a rusted nut with a hex wrench.

7 Cut a coupon from a cereal box.

32 Trim a tree with a long handled shear.

8 Peel a potato with a potato peeler.

33 Unload a 20-pound (9.1-kg) grocery bag from the trunk of an automobile.

9 Turn a large nut on a bolt until it is finger tight.

34 Carry a 20-pound (9.1-kg) sack of groceries for 100 feet (30.5 m).

10 Walk up a few stairs.

35 Lift a 20-pound (9.1-kg) tool box from the floor to a bench.

11 Remove the lid of a soup can with a rotary opener.

36 Lift a 20-pound (9.1-kg) milk crate from the floor to eye-level.

12 Get out of an automobile driver's seat.

37 Use an automobile jack to lift a car.

13 Drive a screw with a small screwdriver.

38 Dig a hole with a spade shovel to plant a small tree.

14 Walk up 1 flight of stairs.

39 Carry a 20-pound (9.1-kg) bucket up a step-ladder.

15 Change a light bulb overhead.

40 Use a T-handle wrench to remove automobile lug nuts.

16 Climb a step-ladder.

41 Carry a 30-pound (13.6-kg) bucket in one hand for 50 feet (15.2 m).

17 Retrieve a small tool from the floor.

42 Use a hoe to mix cement in a wheelbarrow.

18 Hammer a large nail into a piece of lumber.

43 Drive a stake with a sledge hammer.

19 Use a roller to paint an interior wall.

44 Carry a 50-pound (22.7-kg) crate for 50 feet (15.2 m).

20 Hike 1 mile (1.6 km) on a trail in the woods at a leisurely pace.

45 Lift a 50-pound (22.7-kg) milk crate from the floor to a bench.

21 Remove a large nail from a piece of lumber with a claw hammer.

46 Lift a 50-pound (22.7-kg) milk crate from the floor to eye-level.

22 Crawl under a dinner table to retrieve a spoon.

47 Push a full wheelbarrow up a ramp.

23 Sweep a driveway with a push broom.

48 Lift a 100-pound (45.4-kg) milk crate from the floor to a bench.

24 Use a pair of pliers to tighten a sprinkler.

49 Carry a 100-pound (45.4-kg) crate for 50 feet (15.2 m).

25 Sit in an armchair at a theatre for 2 hours.
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50 Lift a 100-pound (45.4-kg) milk crate from the floor to eye-level.
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Current 2.5
Comparison 7

Pain Intensity:

Pain Intensity Legend
0 -10 (0=no pain, 10=worst imaginable pain)

Start Time Duration
Current 10:24 AM 01 minutes
Comparison 10:33 PM 00 minutes

Current 1
Comparison 1

Present Health:

Test Note:
none

Present Health Legend
1=Excellent 3=Fair 2=Good 4=Poor

Response Consistency

The global statistical match between one new's reported ability and the difficulty of items near his expected ability level is
unacceptable, indicating more variability than usual (global infit = 2.3). The global statistical match between ability and items at
the extremes of difficulty (i.e. very easy and very difficult) is unacceptable, indicating misunderstanding of some items (global

outfit = 2.9).

Response Consistency Legend

Global Infit and Outfit Scores: < 2.0 Acceptable; > 2.0 Unacceptable
NOTE: Clinical correlation is advised for unacceptable scores
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